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=g Ex
| =| Mm% HOL| AEBS | ABS | & % w &
FEHIEET
SEAIE THRFHiAE m -— — 0.9 |0. 2mmiA L0, 3mmsk 35
n m — s 4.3 0. 3mmlalt
BEEEL HEREGEE t=30mm | n — — 0. 368
m’ — — 0.011
TEIFET
YAl R BEE t=100m, 50m| 1.79 0.76 2.55 |A1:t=100mm, A2: t=50mm
m® 0.179 | 0.038 0.217
BEEET m? 1.79 0.76 2.55
m’ 0.179 0.038 0.217
EEmET
T SD345 D16 kg 150 146 296
LI T ¥EBESE t=50mm | m’ 5. 00 3.50 8.50
m’ 0.50 0.18 0.68
HIFLT ¢ 26 73 34 34 68
m 8.50 8.50 17.00
EaEd IRFHEE ke 3.9 3.9 7.8
EERR m? 7.12 5. 49 12. 61
XBRT Zem’ 1.83 1.65 3.48
avyy—+ o ck=24N/mm’ m® 1.55 1.23 2.78
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1. FEIME#ET

(1) FEAIZE (0. 20mel £0. 3mmk )
L=209

FEATLZE (0.3mlE)
L=23

(2) FEBET (#ESEEt=30m)
A =
vV = 0.368 x 0.030

2. THIMEMELT

(1) YIHIT (AlfEE  #EREGEt=100mm)
A=0263+ 0.20 + 0.30 + 0.66
v= 1790 x 0.100

(A58 HEEBEEL=50m)
A
vV = 0.760 x 0.050

(2) FEBET AEE #EREEL=100mm)
A 0.63 + 0.20 + 0.30 + 0.66
V= 1790 x 0.100

(A& 2 1K {5 F t=50mm)
A
v = 0.760 x 0.050

0.9

4.3

0. 368
0.011

1.79
0.179

0.76
0.038

1.79
0.179

0.76
0.038

m2
m3

m2
m3

m2
m3

m2
m3

m2
m3



3. AIB S HBEEHLE

(1 &5 BHEERLY
SD345 D16 W= = 150 kg
(2 YiElT  (EEESE=100mm)
A= 1.000 x  5.000 = 500 m?
v= 5000 x 0.100 = 0.5 mt
(3 HERHT 26 x 250
N= 2 X 17 . 34 K
L= 0.250 x 34 8.50 m
@) BEEH (ZTRXIHEE)
(E+%EE TATEBEMARER (7| - EBE £Y)
W= {(0.0262 — 0.0162%) x 7 x1/4%0.250%x 34} x1200x1.15 = 3.9 ke
(b)) HaBR#
A= 0.400 x 0.700 x 2 = 0.56 m?
A= 0.300 x 0.100 x 2 0.06 m?
Asz= (0.700 + 0.300 <+ 0.300 )x 5.000 = 6.50 m?
TA= 7.12 m?
6) ZRT
V= ( 0.950 x 1.100 + 1.300 x 3.900 )x 0.300 = 1.83 ZTm
7 avyy—+r O =24N /mm’
V= 0.400 x 0.700 x 5000 + 0.100 x0.300x5.000 = 1.55 m®
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